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1. What is the number in the place of *? in the sequence 3, 28, 128, 353, 753, "7’
(A) 1156 (B) 1289 (C) 1348 (D) 1378

ra

In a cortam code KERALA 1= coded as JCOWGU, how iNﬂIA‘m coded in that system :
(A) HLAEV (B) HMCHV (C) HNCHD (D) HLEAD

3. Curd is related to Milk in the same way as Brick 15 related 1o _

(A) Water (B) Fire (€) Clay (D)  Building

' Q
4. Arun was born on 4™ December 1990, His cousin Varun wa } on 4" November 1990
The birthday of their cousin Kiran was on Tuesday, 25" | r of that year In which

day Varun was born ? \\'
(A} Tuesday (B) Wednesday (C) F@ (D)  Sunday

e

awamﬂw words Rope, Romance, Root, Re What will be the word in third position
when they are arranged alphabetically Qé

{A) Rope (B) Root {C) Romance (D) Rejoice

6.  Latha was facng the east. § ed right and walked 20 metre, then turned to her right
agamn and walked 20 metre then turned 457 towards her left and went straight to cover
¥ metre, In which di frnm her starting point is she ?

(A} North-west \& South-east (C) South-west (D) North-east

7. Six persons in a meeling, shake hands with each other. How many handshakes were
interchanged ?
(A) & (B) 12 (€C) 15 (D) 10

-~

8, I in the Enghsh alphabet each consonant s substituted by the immediate preceding letter
and each vowel is substituted by immediate following letter, then the word "AUTHORITY”
will be written as :

(A) BVSIPQISX  (B) BTSIPQISX  (C) BVSIPQIUX (D) BVSGPQISX
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9.  How many &'s are there in 89873686398654868538 the following series which are not
immediately followed by 3 but immediately preceded by 8 7

(A) O By 1 (C) 2 (M 3
"
10, If "4+ means "x°, "=" means ‘+', ‘%" means ‘="', and ‘<’ means '+ then
16—443x53+2=7
(A} 9 (B) 10 (C) 14 (D) 15

11.  Decibel is a unit of :
(A}  Atmospheric pressure (B) Force
(C) Energy (D) Sound

12, Which of the following is used as rear view mirrors in vehicla%{
(A} Plane mirror (B) Convex mi i
(C) Concave lens (D} Concave @'ﬁr

13, Which of the following is not an ore of iron ? a_)

(A} Tron pyrites (B) Magnetite &‘ Haematite (D) Magnesite
14, Which one of the following is know: qge ‘King of Metals’ ?
(A} lron (B) Gol (C) Platinum (D) Cobalt

*

15. Which is the alkaloid th

(A) Mercury +\}q
‘
16.  Which aliuy@ enr the production of the body of aeroplanes ?

{(A)y  Duralumme (B} Silumin (C)  Alnico (D) Magnalium

ains in cola drinks ?
Citric acid (C) Caffeine (D) Carbondioxide

17, The compounds which are used to give colour to glasses and oil paintings :
{A)  Alkalimetals (B) Transition metals

(C) lLanthanides (D) Halogen compounds

18. Name the person who invented lightning conductor :
(AY Marconi (B}  Graham Bell

(C} Louis Braille (D) Benmjamin Franklin
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1%,

20.

o2

23.

What is the voltage at which house hold AC (Alternating Current) equipments work ?
(A) 220V (B) 230V (C) 400V (DY 110V

Which of the following is a device that employs the principle of Mutual Induction ?
(A) Electric motor (B) Microphone (C) Tlranstormer (1) Electrome choke

Dengue Fever is caused by ¢
(A) 1GM Dengue Virus (B) 1GM Dengue Bacteria
(C) IMG Dengue Virus (D) IMG Dengue Bactena

e work of famous poet ‘AKKITHAM' which got VAYALAR award, in 2012 ¢
(A) Upanayvanam (B) Samavarthanam 5 Q
(C)  Anthimahakalam (D) Balidarsanam

I'he highest National Environmental award :
(A) Indira Gandhi National award (B) Fanava@%hmm award

(©) \friksLMithra mgi (D) lndo\gew

e O

24.

26.

The second Indian who is appointed as ?@ ICC Cricket Commitiee
(A)  Sunil Gavaskar ™ Kapil Dev

(C) Sachin Tendulkar (D) Anil Kumble

Who got Nobel Prize for lﬂe%&ure m 20127

iA) Robert LEEEIIVIR\'Q (B) Alwin Roth
() Mo Yan (D) Shiniya Yamanaka

The Sky Diver who breaks the sound barrier in sky diving :
(A) Felix Baumgartner (B) Felis Sanches
(C)  Ahson Felix (D) Hussain Bolt

Ihe programme launched by Kerala state government to protect women and children from
sexual abuse and sexual harassments :

(A) Jana mythri (B) Va ithra (C) Karunva (1)) Nirbhava

w
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28.  The present Chief Justice of India
(A} SH. Kapadiva (B) Altamas Kabir
(C) V.V. Vydhalingam (1) Malhothra

29. The new name of Big Ben Tower :
(A} Elzabeth Tower “(B) Royal Mekka Tower
(Cy Varsa Tower (1M Eiffel Tower

30. The 14" Vice President of India :
(A) Pranab Mukharjee (B) Jaswanth Singh
(C) Hameed Ansari (D) Prathibha Patil

Q
31.  Which was the statistical mode! used for India’s second fiveﬁr plan for attaiming economic
development ?

(A) Nehru model (B} Mal'%gm maodel

(C) K.N. Raj model (17} @l model

N,

32. The Securities Exchange BDoard of lndin@h was established on -
(A) 1992 April 12 (B) 1991 /@I (€) 1992 March 1 (D) 1993 April 25

33, Rajiv Gandhi Zoological Pa ocated at :
(A} Hyderabad \$ (B) Vishakhapattanam
(C) Guwahati * (I Pune

*

&

34. Who was tht% winman Director General of Police in India 7
(A) Kiran Bedi (B)  Kanchan Chaudhary
(C)  Sheela Koul (D) Sheela Dunt

35. No child below the age of 14 can be employed as per the Indian Constitution s -
(A} Arhcle-24 (B}  Article-26 (C) Article-28 (13)  Article-50

36. Who wrote the book ‘Development as Freedom’ ?
(A) MK Gandhi (B AL Abdul Kalam
(C) Amartya Sen (13 BR Ambedikar
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37, In Kerala, the "Akshaya Project’ was tustly started in which district ?
(A)  Malappuram (8)  Thiruvananthapuram
(C) Kozhikode (D) Ernakulam

38. ‘Sugandha Bhavan’, the Head Office nf'-}pﬁg« Board India s located at
(A) Kozhikode (B Cochin (C}  Mysore (D) New Delhi

39, i 19 Bluiral Ratna was posthumously awarded towhom ?
(A} MG Ramachandran (B) Vinobha Bhave
(C) Vallabhbhai Patel (D) B.R. Ambedkar

A0, Laberabsation of insurance sector in India was based on the recpmmendations of :
(A} Rangarajan Commultes (B)  Vijay Kelkar Copyittee
(€1 Malhotra Committee (D) Tendulkar C@ﬁ ttee

41, The twtal run of kerala rivers is about

MS=—_— ‘s total water potential.
(A) 5% (B) 10% (

(D) Nore of the above

42, When does‘North East Mansoon blow i @;an.d of Kerala ?
Mj June-Septeinilw October-November
() Joanuary-February * M1 None of the above

43, Ihe pupulation density l\ la as per the Census of 2011 :
1\) 73%sq km x 859/sq km (C) 839/sq km (D) 739/sq km
4. The sex-ratio u‘lfﬁu (Females per 1000 Males) according to the Census of 2011 :
(A} 1024 (B) 1044 (C) 1084 (D) 1104

45,  Pathwramanal Bird Sanctuary 15 situated in

(A) Ashtamudi Kaval (B}  Sasthamcota Kayal

(C) Kavamkulam Kaval (D) Vembanad Kayal
6. Alokshapradecpam s the book written by ¢

1y Vagbhatananda (B) Sri Narayana Guru

(C) Swami Brahmavrulan (D)  Brahmananda Swami Shivayogi
B 7
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47. Thatwa Prakashika Ashramam was established by :
(A) Vagbhatananda Gurudevar (B) Shiwvaprasad

(C)  Sivananda Paramahamsa (D) Vavath Swami

48. " Awake, remember the creator

Arise and fight against injustice” Name the magazine which printed this message on its
Frant page

(A)  Swadeshabhimani (B) Atma Vidya Kahalam
(C) Shivayogi Vilasam (D) Sahodaran

49. Fasting of Savarna volunteers within the Guruvayur temple (1% October 1932) was organized
under the leadership of :

(A) A.K. Gopalan (B) I Krishna '
(C) K. Kelappan (D) V.T. Bh:lw' ad
’\0
50.  The "“Swadeshabhimani” was published under %Nwrmrﬁhip of :
(A}  Ramakrishna Pillai (B) . Govinda Pillas
(C)  Vakkom Abidul Khader Moulavi d@\c‘v. Kunhiraman

51. The term ‘Adjournment’ with rﬁ@% the Indian Parliament means :
(A)  Dissolution of the hou N

(B) Session comes to a or suspended

(C)  Meeting or sitl

(0 The term L'I%L"
X

52. The |m1mn\@h’amunl derives its power from :

tuspended for the ime being or for the day

use comes o an end due to emergency

(A) Constitution (B} Judiciary
(C)  Council of Ministers (D) President

53.  Right to Property under Indian Constitution is a :
(A) Fundamental Right (B) Legal Right
(C) Human Right (D) Natural Right

54. Untouchability is abolished under :
(A) Article 20 (B) Article 32 (C) Arncle 25 (D) Article 17
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57.

58.

59,

b0,

61.

62.

An official appointed by a political party to regulate and monitor the behaviour of its
members

(A} Speaker (B) Whip (<) ‘Envoy (D} Ombudsman
As per the 69t Constitution (Amendment) Act 1999, Delhi is now
(A) State (B Corporation

(C) Natwonal Capital lerritory (I3} Cantonment Area

Article 21 A deals with ¢

(A} Right to Life (B) Right to Fducation

(C) Right to Freedom (D) Right to Food Safety

he Right to Information Act, 2005 came into force on : ’Q

(A) 12 October 2005 (B) 20t Nove 05
*

(C) 14" March 2006 (D) 2eth Febiﬁég 2006

Lokayukta is an authority constituted for : :0‘ P
(A) Empowerment of SC and ST O

(B} Investigating atrocities against -.\Q
(C)  The protection of Human Ri *

(D) Investigating allegatin@rruptiﬂn against public servants

Who is the author of %@uk “Revolution 2020" 7
(B) AP] Abdul Kalam

{A) Chetan Eh@
(C) V.5 Naipal (D) Aravind Adiga

Choose the correct verb form :

'll‘:—-

The minister along with his body guards hilled in the riot.

(A) was (B)  were {C) are (D) have

Lise the correct preposition :
It's very nice _ you to help me.
(A) with (B) in (C)  of (D) about
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63.

b4.

65.

67.

69,

70.

Select the correct passive lorm ;
They are considering our pla, :
(A1 Our plan s considerad

(C) Owr plan s considering

Fill the blank space with the right word :

She's not a good driver, She drives

(A) reckless A4 tastly

(1
{1)

Cur plan is being considered

Cigr plan has being considered

(C) rash

Choose the correct antonym of the underlined word :

She is having a malignant tumour
(A) benign (B) nasty

Choose the correct article :
Thas test lasts for howr.
(A) a, (B) the

Chuwsse the phrase nearest in meaning

Her sari cost the ¢arth.

(A} isverveostly  (B) s ¢ e'&

Substitute the underh

A _person who loves

(A) misngynje;@ 4'[Bi misanthrope

AN

Report

and is known as

(C) bemmh\t

t}@& underlined idhom

(C) issoiled

ession with right one word -

(C)  patriot

“"Where are vou going 7" asked the policeman

(A}  The policeman asked me where | was going

(B) The policeman asked me where was | going

(C) The pohceman asked me where | am gomg,

(D)  The poliweman asks me where | was going

Choose the right svnonym tor the word  ephemeral

(A) lasting (M eternal
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(C)  durable

(D)

(D)

(D)

(D)

(1)

(D)

recklesslv

painless

any

15 ecofriendly

ph lanthro pl: ul

momentary



71. mBM&mUd (MomINEsswId pascwouilenirmingeld @ @oay @6,
(A) QpIe0IREINE (B) aj@soay (Y }nﬁnum{aan:: (D) aneapuileeoay

72. ‘tojoauel alemBRIRO®Io ‘djnsemad’ Mﬁu @ocle AREEMAIGlemeno
mafind ©RAcan@eMmaceT

(A} morao (B) @@t (C) Ao (D) m@imyeale
.
73. ellaflwie moadloynmosmegaingsiele oo alrlaoaiiod mmemi saiecmouila))
BhIETEIDl BT @O e
(A)  &9a6E50 8 (B) cunenss \
(€) sumteoan (D) o)®mEdnw .
L
74.  Amendment agym alaamilmy (@eonymm ebesoo 0
(A) loaneayes  (B)  eeawndl (C) r@m (D) @ymalieesalo
Ll
75, QluesaM® af)MmOm &0¥.a15900M ag uﬁ)ﬁnﬂfﬂ Glnla¥dhd af)m alfo
R AmOnoee T ag)MmOETA
(A} allajasea E? @RGP EDED
(C)  avoerl (D) sudlafleniom opod
76.  cuyadl agm aleovl @l alfo
(A) mmdlm,yaa.iko SHWo (C) @aymo (D) sl

77. uyo agiMio tdelo afTNjo EOAMONIAS AlA@mOET
(A) @osnijEo (B)  meoer Wl (L) @mofmino (D) @esmemo

78. oo dheldmd, 0@IalI®osetl ag)Tilammem "RISdHhalGaRMas MR (aldWIMIBIas
MEruaoeny .

(A) ajmyad (B) allmje (C) mpapwieouad (D)  euaoyafladl
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80.

81.

82.

83

84.

86,

mangeinll mel al@fleonsiglo agewiaglbony’ - 7 cuodnEnfied @¥laoenoaiym
LETE

(A) e (B) &gjo (C) agyem (D) acaidbmmy

‘anyeoeridaomie aeyme’ agTn apdmoanilad soudlagidt ERdEEEnI0EE
{'."Jl_,i':'ll':_':-‘ ',..lrﬂl“.,]ﬁmiﬂmm!'.lﬁ

(A)  abjgopoe (B) anjewotnamdwl
() anodaouao] (D)  apodqmond

Which of the following is not related to a computer monitor ?

(A) VDU (B) Plasma Display (C) Pointing devisgs (D) CRT
*
- s an input device commonly available in lapto }
(A} Trackball (B) Touchpad (C) Tow n (D) Joystick
A temporary storage area attached to the L‘I’L@E computer for input-output operalions
s 1

(A] Rigister (B) Putfer (91 Channel (M Core

Product of the data processing is 9
(A) Dala (B) puter (C) Software (D)  Information

A collection of pamilek\%ts that connects several devices in a computer is called :
(A) Bus +

Q (B) Link
(<) Bulu'm:t@l (2 (D) Cables

Software mstalled to help prevent hacking is called :
(A)  Svstem software (B) Antwvirus software

(C)  Firewall software (D) Application software

Eneryphion of data means that

(A} Data cannot be sent over the inlernet

(B) Data is encoded so it cannot be read without decoding software
(C) Data is kept locked in special room

(N Data has been hacked into
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89.

0.

91.

92,

93,

94.

95.

A person whe gains unauthorized access 10 a computer network for profit. crinunal mischiet
or personal pleasure is :

(A) Hacker (B) Cracker (L) Programmer (1)) None ot these
Linux is a :

(A)  Database program (B)  Application program

(€} Operating svstem (17} None of these

15 a legal monopoly granted for a limited time to the owner of an imvention.

(A) Trade secrets (B) Cup}'right. (€) Trademark (1) Patent

Which is the next term in the sequence 10, 30, 70, 150, 310, ... > Q\
(A) 360 (B) 610 (C) ﬁ?_i_!l_ Q}ﬂ ) 340
N

2 4
1t 5 + % +r=2, what is the value of r ?

N
[6Y) %%-~*-ﬂ ﬂn"xfé i({, . (m

e
% 15 i5
Which is the greatest fraction amon .@Glluwmg ?
323 7
758" 35 \\
\
2 $ 5 o7
() = Q 7 (€) 8 (D) 35
z = S P
H1='I:I——tht!n' Xty
3 ] 7 21"3
(A) 1.2 (B) 1.1 oy &7 (D) 1.3

If Eight thousand Rupees is added to the 60 percentage of the salary of an emploves, the sum
becomes the salary itself. What is the salary ?

(A) 20000 (B) 22000 (C) 24000 (D) 16000

13 74/2013
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96.

97.

98.

99.

100.

An aircralt flies 400 kms straight east from station A and landed at station B, From there it

flies 300 kms straight north and landed at station C. What is the aerial distance between
stations A and C ?

(A) 200 kms (B) 600 kms (Cy 700 kms (1 500 kms

The sum of the areas of two squares is 61 square units and their difference is 11 square units.
What is the length of a side of the smaller square ?

(A) 3 units (B) 4 units (C) 5 units (D) 6 units

18 cups of water by cup A is required to fill a bucket wheregs 16 cups of water 1s sufficient
to fill the same bucket by cup B. What is the ratio MMw®umum of cup A and cupB?

(A) 7:9 (B) 8:9 (©) ?'é\ D) 7:10

A train of length 260 meters long is running a speed of 72 km/hr. What is the ime
taken by this train to cross a thin pole co

(A) 15 seconds (B) M wcnnd [L:: 16 seconds (D) 13 seconds

Age of father is 4 times the a %1! son. After b years ages of father and son will be in the
ratio 5: 2. What is the pr ge of the son ?

(A) 6 7 (C) 8 (D) 5

N
&
N}
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